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B.A. (General) EXAMINATION

| (For Batch 2015 & Onwards)
‘ (Fourth Semester)
“ ECONOMICS :
5 Paper-II i

Macroeconomrcs-II
| Time : Thrée Ho/u:r.s‘  Maximum Marks : 80

: Not.e‘ The questlon paper w1ll con31st of three |
"-“Sections Candldates W111 be requlred to
~attempt all the Sectrons as per the breakup '

glven below

Section A (16 marks) It will consist of
- one question having eight parts of 2 marks
each. Candidate will be required to attempt
all the parts. Answer 'to any part sho:ild not

exceed half page. -
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(40 marks) ¢ It will consist of

Candidate will be required

questions carrying 8 marks
he question should

Section B
cight questions.

(o attempt five
cach. Answer to any of t

not exceed three pages.

Section C (24 marks) : It will consist of
four questions. Candidate will be required
to attempt two questions. Each question
carries 12 marks. Answer to any of the
question should not exceed six pages.

SectionA |
1. Answer .the following : b s 2x8=16
(a) What do you mean by Deficit Induced
- Inflation ? ~ | ‘

(b) What is credit control ?
(c) Define Social Sacrifice.

(d) Deﬁne Regressive Tax ?

(¢) What do you mean by Dynamic
Multiplier? |

(f)  What is Supermultiplier Vi

(8) What is meant by positive coﬁelatioh ?
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(h)  The coefTicient of rank correlation
between X and Y is 0.143. [f the sum of
squarcs of differences 1S 48, find the

value of N.

Section B

Discuss the effects of inflation on economic

development.

Discuss the process of credit creation of
commercial banks.

What is meant by public finance ? Differentiate
between Public Finance and Private Finance.

Discuss the features of a good taxatlon
system. | |

What is multiplier ? Explain the relatlonshlp
between MPC and multlpller

What is meant by trade cycles ? Mentlon the
various phases of trade cycle. |

Define correlation. Explam its 1mportance in
statlstncs
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carson’s method of calc‘ilating
lation. Give its merits apg
t 8x5= 40

9. Explain Karl P

~ coefficient of corre
demerits.

tSectio’n Cc v

10. Explain various methods of credlt control

adopted by central bank

-» llﬁ.‘"What do you understand by shlftmg of a tax 9
o Explam the 1mportant factors Wthh govem_‘, i
"the shtﬁmg of tax | e i A e

12 Explam the process of mteractron between |
g "accelerator and multlpher el o

13.In a Poetry Recrtatlon Competltlon 10
| part101pants were accorded the followmg marks'
by two dlfferent Judges X and Y : Bl

IS5 .,15.‘,
17 _' 12
Vet e T
130 e
11 j .
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12
16 3
18 10
10 2.4
9 5

Calculate the coefﬁcwnt of rank correlation.
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